


 
 

4. If ώ  ȟ ὸὬὩὲ  

 

  (A)     (B)     (C)   

 

      (D)     (E)   

 

              

5.   If ώ ὼ ÓÉÎ ςὼȟ then  

(A) ςὼ ÃÏÓ ςὼ   (B) τὼ ÃÏÓ ςὼ   (C) ςὼ ÓÉÎ ςὼ ÃÏÓ ςὼ  

(D) ςὼ ÓÉÎ ςὼ ὼ ÃÏÓ ςὼ  (E) ςὼ ÓÉÎ ςὼ Ø ÃÏÓ ςὼ             

 
 
 

Limits 

 

6. ÌÉÍ
ᴼ

  

 

(A)  σ   (B)    (C)  

 

(D)     (E) 2  

      
 
 

7. Evaluate the limit: ÌÉÍ
ᴼ

 

 
(A)      5   (B) 3   (C) σ 
 
(D)     υ   (E)     The limit does not exist  
 
 
 
 
 





12. Let f be the function with the derivative given by Ὢᴂ ὼ ὼ Ȣ     On which of the 

following intervals is f  decreasing? 
       (A)    ( Њȟ ρ]   (B)    ( Њȟ π    (C) [-1,0) only 

       (D)    (0,Ѝς]   (E)    [Ѝςȟ Њ              

 

 

13.       Let g be a twice-differentiable function with Ὣ ὼ π ÁÎÄ Ὣ ὼ π for all real 
numbers x, such that Ὣ



16.  If ᷿ ὼ φὼ φ Ὠὼ is approximated by 4 inscribed rectangles of equal width on the    

x-axis, then the approximation is 
 
(A)  14   (B) 10   (C) 6 
 
(D)  5                    
 
 
 

17.   ᷿ Ὡ ςὸ Ὠὸ 

 
(A)  Ὡ τὼ  (B) Ὡ τὼ ρ  (C) Ὡ τὼ ρ 
 
(D)  ςὩ τὼ  (E) ςὩ ψὼ               
 
 
 

18.       ᷿ Ὡ Ὠὼ  

 (A)    (B) τὩ    (C)  Ὡ ρ



Applications of Integrals 

21.   If  and ώ σ τ, then 

 
(A)  ὼ ώ χ  (B) ὼ ώ χ   (C)  ὼ ώ χ  
 
(D)  ώ ὼ υ  (E) ώ ὼ χ       
 
 
 
 

22. The average value of Ѝσὼ on the closed interval πȟω  is 
 

(A)  
Ѝ

   (B) ςЍσ   (C) φ 

 

(D)  φЍσ   (E) ρψЍσ       
 
 
 

23.       If ᷿ Ὣ ὼ Ὠὼ σὦ ὥȟ then ᷿ Ὣ ὼ χ Ὠὼ   

 
(A)    3b – a    (B) 4b – 6a   (C) -4b – 2a 

(D)    -4b + 8a   (E) 6a – 4b             

 

 
    

 


